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INSTRUCTIONS
1. This paper consists of 7 printed pages and an addendum of 6 pages.
2 Refer to the addendum when answering the questions,
3. Answer all questions.
4, Number your work exactly as the questions are numbered.

5. Writing must be neat and legible.

QUESTION 1 - ATMOSPHERE AND GEOMORPHOLOGY.

1.1~ PROVIDE THE CORRECT TERM/CONCEPTS FOR THE DESCRIPTIONS
BELOW,

I.1.1  Itis found at the change in gradient at the base of a slope.
1.1.2 Loose or broken down material after the process of erosion.
1.1.3 When loose sediment changes into hard rock,

1.1.4 Loose material slipping down a slope.

L.1.5 A homoclinal ridge which is symmetrical in shape.

1.1.6  Also referred to as the steeper slope.

I.I.7  Alayer of saturated rock through which ground water can flow.

(7
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1.2

1.2.1

1.2.2

1.2.3

1.2.4

1.2.5

1.2.6

1.2.7

1.2.8

1.3

1.3.1

1.3.2

1.33

1.3.4.

14

1.4.1

1.4.2

143

1.4.4

INDICATE WHETHER THE STATEMENTS ARE TRUE OR FALSE,

A Fohn wind is a hot dry wind.

A boundary separating two air masses of different densities is known as a front.
Condensation is the amount of water vapour in the air.

Sheet wash is rain water flowing beneath the earth’s surface.

A volume of air defined by its temperature and moisture content is known as
air mass.

Conduction is the process of transferring heat from one object to another by
direct contact.

Solstice is the time of year when day and i.xight are of equal length,

Isohyets are lines on a map joining places of equal temperature.

(8)
STUDY THE SYNOPTIC WEATHER MAP (FIG 1) AND ANSWER THE
QUESTIONS.
State the season represented by the map. Give TWO reason for your answer. 5
Name the fronts labelled X and Y. 2
Calculate the isobaric interval of the map. 2
Refer to weather station labelled A. Describe FIVE weather conditions
occurring at this station, 5
(14)
READ THE ARTICLE ON MONSOONS IN INDIA. (FIG 2)
State the cardinal direction from which this monsdon wind blows. 1
Describe the characteristics of this air mass which causes the rain during
the monsoon season. 2
In which season does the monsoon rains occur, Give a reason for your
answer. 3
Discuss the significance of the monsoon rains to the people of India.
(4 answers) 8
(14) -
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1.5

1.5.1

1.5.2

1.5.3

1.5.4

1.5.5

1.6

1.6.1
1.6.2
1.6.3
1.6.4

1.6.5

1.7

1.7.1
1.7.2
1.7.3

1.7.4

1.7.5

STUDY THE DIAGRAM ON MASS MOVEMENTS (FIG 3) AND ANSWER

THE QUESTIONS.
Define the term mass movement.
Comment on the possible cause of the type of mass movement at A.

Explain how the deforestation at B increased the mass movement shown on the
sketch,

Comment on the dangers that the type of mass movement at C has for people
living at the base of the slope. (2 answers)

In a paragraph of 8 lines , discuss 4 strategies you would implement to stabilise
the area at C,

STUDY THE KAROO LANDSCAPE (FIG 4) AND ANSWER THE
QUESTIONS.

Identify features A, B and C.

Give areason for identifying each of the features A and B.
Are the above features found in arid or moist areas?

Why would a hogsback not form in this landscape?

Refer to feature A. Write a paragraph of 8 lines explaining how this feature
forms and its significance to man.

REFER TO FIGURE 5 ON TORS AND ANSWER THE QUESTIONS.
Provide a brief description of a “Tor”.

Name the type of rocks that tors occur in.

Explain how intrusive features like these become exposed.

Explain why landscapes such as the one shown in figure 5 are sparsely
populated.

Write a paragraph of approximately 8 lines explaining the formation of tors.
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1.8

1.8.1

1.8.2

1.8.3

1.8.4

1.8.5

STUDY FIGURE 6 ON DESERTIFICATION IN AFRICA.

What is desertification?
State THREE ways in which humans contribute to desertification.

Describe the extent to which South Aftica is threatened by desertification.
(2 answers)

Discuss TWO effects of desertification on the economy of Africa.

Write a short paragraph in which you suggest sustainable ways to prevent and
reverse desertification in Africa. (4 answers)

TOTAL QUESTION 1 =115
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QUESTION 2 - ATMOSPHERE AND GEOMORPHOLOGY

21  MATCH THE TERMS IN COLUMN B WITH THE DESCRIPTIONS IN
COLUMN A. WRITE ONLY THE LETTER OI' YOUR CHOICE FROM
COLUMN B NEXT TO THE QUESTION NUMBER.

COLUMN A | COLUMN B
2.1.1  The relief of the earths surface. A Desalination
2.1.2 Breakdown of rocks due to cheinical, meohanic_al and B Plateau
. temperature differences. o - _ 3
2.1.3 Occurs when ground water evaporates leaving behind C Exfoliation

_dissolved salts on the surface. _ , _ ,
2.1.4  Removal of broken down material by wind, water orice. | D Homoclinal Ridge

2.1.5 Also known as scarp retreat. E Topography

EY

2.1.6 Features that have a scarp slopé and a dip slope | |'F Back Wasting

2.1.7 Outer layers of igneous rock peel off due to temperature IKe Weathering
changes causing expansion and contraction.
2.1.8 Large high-lying area that is relatively flat. H Erosion

[T Homoclinal Shifting

J Coastal plain

(8)
22  CHOOSE THE CORRECT ANSWER FROM WITHIN BRACKETS.

2.2,1 Movement of the earth around the sun which causes the seasons is known as
(rotation, revolution)

2.2.2 Type of climate experienced by coastal places (continental climate, maritime climate)
2.2.3  This cell occurs between 60° - 90° N/S latitudes. (Ferrel, Polar)

2.2.4 The vertical slope element is (talus, cliff).

2.2.5 An example of a basaltic plateau is (Drakensburg mountain, Table mountain)

2.2.6  Gentle level landscape is a (conical hill, pediplain).

2.2.7 Clouds form under (high, low) ptessure conditions.

(7
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2.3

2.3.1

23.2

23.3

23.4

23.5

24

24.1
24.2
2.4.3

2.4.4

2.5.

2.5.1
252
253

2.5.4

2.5.5

2.5.6

STUDY FIGURE 7 AND ANSWER THE QUESTIONS,

Name the line represented by letter X 1
State the force represented by letter A. Give a reason to support your answer. 3
State the force represented by letter B. Give a reason for your answer. 3
Name the resultant wind labelled C. 2
Briefly describe how this wind is formed.(answer 2.3.4) 4
‘ (13)

READ ARTICLE IN FIGURE 8 AND ANSWER THE QUESTIONS.

State the cause of El Nino and La Nina. 2
Name the season in which El Nino strikes South Africa. 1
Explain how El Nino and La Nina affect the weather in South Africa. 4

Scientists refer to the event when exceptionally cool water lies off the coast of
South America as La Nina. Explain what happens in the Pacific Ocean during a

La Nina event. (3 answers) 6
(13)
STUDY FIGURE 9 WHICH DEPICTS IGNEOUS INTRUSIVE FEATUES.
Define intrusive volcanism. 2
Identify the igneous intrusive features labelled A, B and C. 3
State ONE characteristic of feature A evident on the sketch. 2

Name ONE landform that may develop from features A and B respectively when

they are exposed to the earths surface. 2

Explain how feature B is formed. 4

Give ONE South African example of a lopolith. 1
(14)
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2.6  STUDY FIGURE 10 ON SLOPE ELEMENTS AND ANSWER THE

QUESTIONS.
2.6.1 Name slope elements A, B, C and D. 4
2.6.2 State the geomorphological activity that occurs at A, B and C. 3
2.6.3 Which slope element represents a concave slope? 1

2.6.4  Which slope element is best suited for crop farming? Give a reason for your
answet, 3

2.6.5 “Slopes provide a valuable piece of ground for mankind” Discuss the significance

of slopes for human activity.(Positive and Negative effects) (4 answers) 8
(19)
27  STUDY FIGURE 11 ON STRUCTUAL LANDFORMS AND ANSWER THE
QUESTIONS.
2.7.1 Match the letter E and F with (Mesa, Cuesta). 2
2.7.2  Give ONE difference between layers E and F, 4
2.7.3 Name slopes X and Y found on feature E. 2
2.7.4 Of what significance are cuestas to man. (3 answers) 6
(14)

2.8 READ THE CASE STUDY ON DROUGHTS -FIGURE 12
2.8.1 Define the term Drought. 2

2.8.2  What according to the article has been the impact of drought on agricultural
production. (2 answers) ‘ 4

2.8.3  Outline the negative impact that drought is currently having in Southern Africa.
(4 answers) 8

2.8.4 State FOUR solutions that maybe introduced to reduce the effects of drought

in South Africa. 8
(22)

TOTAL QUESTION 2 =110

FINAL TOTAL =225
GREENBURY SECONDARY SCHOOL,
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FIGURE 1
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FIGURE 2

Prepéring for the rmonsogn

Indiahas d loyerhaté felationship with the annual weattiel phenomenon called the
monsoon, With over 50 'per-cent of the,economy. depending on agriculture, she can't do
withoudt:it, Birt WJj.a,t;L ¢ mporisoon does with India=is-the'other part of the story.

Too 'much, ratn and large swathes of the land are turned into virtual islands with millions
displaced and not enough rain means crippling drought. 80 per cent of the total rainfall in
India takes place between. June and-September under the influence of the south-west
monsoon. Floods from these monsoon raing-are a perennial phenomenon,

Widegpread hviman and inatertal losses, collapse of infrastructure’and services may be .
major consequences;of the floods. Hundreds of thousands may be displaced, often in
igolated and not easily accessible areas. Loss of life also occurs each year due to the flooding
from. the monsoon rains. ’

Against the total of 40 million hectares prone to floods, approximately 15 million hectares
have been ‘protected/by construction of embankments, B ”
Dams and parrages haye also been constructed, but sornetimes (hese cause floods. In 2006
as mary as 10 dams had to relense large quantities of water within 24 hours after four‘days
of Incessant rains, As a result, over 2 000 villages in 104 taluks spread over 19 districts
downstream of the dam were affected and moreithean200 000 hectares of.agricultural land
were damaged. Around 100 000 people wete affected, Flash floods in Gujarat, Hlimachal

Pradesh and Bihar were similarly caused by dams-upstream discharging excess water,

As part of the meastires to prepare for the-disasters- :
caused by the monsoons, there is an overall master
plan for every state and: a contingency plan for

each district, involving apact from other things, .
steps required to be taken before the onset 6f

floods and post-flood management. !
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Landslide

C Rockfalls
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FIGURE 5
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FIGURE 6

SPREADING DESERTS THREATEN AFRICA

On the southern edge of
the Sahara, an area the
size of Somalia has
become a desert over the
past 50 years. The same
fate now threatens more
than one-third of the
Aftican continent. The
main cause of

True desert desertification is not
drought, but
Acte risk of mismanagement of land,
deserlifcation including overgrazing and
[ Moderate o felling trees and
__greatisk. brushwood for fuel.
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FIGURE 7
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FIGURE 8

El Nino and.La Nina: The boy child and his litile
sister

In Spanish, EI Nino means 'The Christ child " This is the name Peruvian fishermen
gave to a warm current that sometimes arrived off the South American coast
around Christmas time. The warm current was a tell-tale slgn that fishing would
be bad that season, because Ei Nino blacks the upwelling of nutrient rich water,

[ £l Nino Is responsible for drought in some parts of the world. Since 1525, there
have been 113 El Nino's recorded, This Is an average of about one El Nino in
every four years. The catastrophic El Nino's are spaced roughly 15 years apart

s
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FIGURE 12

Farmers in the Western and South-Western Free State are

selling livestock to ease the pressure on grazing due to the
continued drought in the area. Large sections of the Free State
have not yet had enough rain to break the drought and

although farmers have planted maize, they need follow-up rain
urgently. South Africa often suffers a drought during an

El Nino event. El Nino is the natural warming of the surface
temperatures of the Pacific Ocean, which occurs approximately
every two to seven years. The change in the ocearj temperature
has been seen to have a dramatic effect on the weather around
the world. Maize and livestock farmer, Willie Oosthuizen says:

We have not received enough rains. We received enough rains to
Plant and plant in faith now because there is not ebough soil
moisture in the bottom soil. So we plant and then we try to get

it out of the ground and we pray for follow up rains so that the
crop can grow - so that people in the city can eat @'nd S0 we can
become sustainable."

The South African Weather Service's forecaster Sihle Kunene

says there's a good chance of reasonable amounts of rainfall

over the area from Sunday."The rain that we receifved so far hasn't
been a lot, it's mostly in the eastern Free State and the western
part. It's still very dry. Its only trace amounts to 4.6 millilitres in
Bethlehem but it's not a lot in terms of farmers. We expect a '
cut-off low coming into the country and that will gjve us some
easonable amounts of rainfall especially for the farmers."
[Source : Adapted from Google ]
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